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1. Excel Bz D F| B

(1) #HETIE(EET. F159. =K. &=/]V)
MIBEEZD) YD > SvDvaiEd >
&5t £, m K. m/PMEER > HEHFR

(2) =% (sin,cos,exp,logZ)
HERILED)YD S XxEHU)vD > BE#OHS
FHO)MIHFE/IZAZEIR 2 BHOBEHE
7w > BIEX L %&‘C"é]\h% > FTEMHER

) mTOEILpi() THIFATRE
FT1=. KXF. /J\I%(itEbT%OK




1.1 #¥RETEHZ D FI A

« JE¥): =AVERAGE(&EH)
« hR{E: =MEDIAN(ZEE)
Ex A 1E : —I\/IODE('aP;
ZHERZE: =STDEV(3
N =VAR(Za[ e
. BIh. Bk SMIN(EEE). MAX(H5E) o
. B BAB=SUM(HEE). COUNT(

. ('):',flo)mgz =RAND() :{EAZEHD

¥)  #ZoEEl: D3:D30
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)
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1.2 ExcelDIEELDFE

(1) xS &Lt SHE
XTSI A3,B15 > wILBETEHERE
xS R $A3, A$3, $AS3 > $STHENEAELL
(2) MAIFTE
ME: + BE: - 'R+ RE./ RXEFE:~
;Hr:%i(;t()m75\1§5'5’C1T1|E|’c%<>(;t1§ I A] §E
(3) #JLD3E
OE—&EEYFHITH T 5L, BIERTHNEEIN S,

FREERLTREYMITT DL B ETZIFT:EIRL
THEE TS D,
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2. EAHETEET Z7/ERK

» f(x)=a-sin(b*x)+0.5x&9 5,
a,bMTEEDIX)DERET FTEERE K,
X[Z0M52FE TO. 1@ TIERLE &Ko

&KV 77E0abDENTMEEIIE L
* (1) a=1, b=1

(2) a=2, b=2

(3) a=2, b=3




2.1 EA#ETELI-FX

=B$5*SIN(B$6*$A8)+0.5*$A8

o O1

A B

a= 1 2 2

b= 1 2 3

X |  a=1b=1 a=2 b=2 a=2 b=3
0.0 0.00 0.00 0.00
0.1 0.15 0.45 0.64
0.2 0.30 0.88 1.23
0.3 0.45 1.28 1.72
0.4 0.59 1.63 2.06
0.5 0.73 1.93 2.24

LI &g




2.2 BAHMETELI=T9 357

f(x)

3.0
2.5
2.0
1.5
1.0

0.5 A
0.0 -
-0.5
-1.0
-1.5

f(x)=a"sin(b"x)+0.5=x




3. T AL T—2OHEH

— TE D S (#1253

”Si\ r)JT\\

XY D)z ml=9

THEFART7AILING, ExcelDEILIZH N
T:?_QJE{/EJ:&'—G%% o

Excel 2 774)L > FK
> BEITHILEAN > TARTDIT7AIL(xx)
> ZATXARNTIFAIL > T >
> ZPIZ{TITTRE 2 Excel7 v
> REI7AMILE > RE



3.1 T—32DTUEILIELER

L IFiE

0
0.1
0.2
0.3
0.4
0.5
0.6
0.7

A A

2.93
0.32

0.6
0.63
0.67
0.81
0.93
0.95

LI &g

A B

1.07

0.4
0.35
0.48
0.53
0.48
0.91
0.91

A HC

0.53
0.34
0.17
0.31
0.29
0.43
0.34
0.29
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4, T—RDMIEERT 7D ER

s MEZ2ETICT T

o AAFILCREE—EDI0B M LITHE) FEEk
 BBEST(F—SEL). BH A (E)RE
« T—A%EITIETY—F

« RETAMDT 3% BEI TR
« BETRMDU ST1ERK
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4.1 J—krET—2OMI

BREE— 3B 10 B fEl L IF1F

IRk
Firmg |AxXA |AHKB |AHAC
0.0 | 4979 | 5899 | 67.90
4.9 0.64 0.88 0.48
4.8 0.76 0.72 0.63
4.] 0.72 0.85 0.67
4.6 0.65 0.93 0.58
4.5 0.74 0.83 0.79
4.4 0.70 0.67 0.65
4.3 0.76 0.59 0.60
4.2 0.74 0.51 0.43
4.1 0.72 0.83 0.70
4.0 0./8 0.64 0.87
3.9 0.77 0.67 0.43
T

= F W i)

Firig |AxXA |AHKB |[AHAC
9.0 49.8 29.0 67.9
4.9 00.4 99.9 68.4
4.8 91.2 60.6 69.0
4.1 91.9 61.4 69.7
4.6 92.6 62.4 /0.3
4.5 93.3 63.2 /1.1
4.4 94.0 63.9 11.7
4.3 94.8 64.5 12.3
4.2 99.5 65.0 12.1
4.1 96.2 65.8 134
4.0 97.0 66.4 74.3
3.9 9/.8 67.1 14.7
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4.2 BRZL1=057

REE—&BD10BE D EITIEREH 591
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4.3 595 T7NER

« {EEHDERTE
8090 > T—320:FIR > @WSN)LIEE
> *ﬁiﬁ@’s

- EDE

L

Fis

21)v4 > OK > OK

X TE (FEEh. HtEhZT T )

a71) /7 > BOERKRTE > A=21—FEIR
« BHSNIL, BAFILERTE

)99 > LAT Ik > ESAN)L, ZARIL
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